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Group assignment Name: Lﬂ B
Dusty Wilson
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Math 125 I only f had the thearems!

Then I should find the proofs easily enough.

No work = no credit Geora Friedrich Bernhard Riemann (1826 - 1866)
: Qerman mathematician

Warm-ups 1+1=_4 3= =9 fsin (x)d=_2
0

1.) According to the quate (see above), what did Riemann find more easily — theorems or
proofs? Answer using complete sentences.
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2.) State the Fundamental Theorem of Calculus, Part 1. Make sure to include all of the

conditions and the full conclusion. ‘
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3.) Use Part 1 of the Fundamental Theorem of Calculus to find g; J' 1_7: ~du. (Youdonot
3-5x W
need to simplify).
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4.) Use the definition of the defimie integral fo evaluate J- (xz —-Tx+ 2) dx .
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5.) The base of the solid § is the region bounded between y=x* and y = Jx . Cross-sections
perpendicular to the y-axis are squares. Set up an integral to find determine the volume of S.
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